BLUE TEAM – Point #1
X : Kasandra paid $396 to belong to a gym last year and $504 this year.  The gym sends her a bill once a month.  How much higher is her monthly bill this year than last year?   ______ dollars
Y: 13 rounds to _______.
BLUE TEAM – Point #2
X : Mr. Johns has 179 coins in his coin collection.  He wants to divide them up among his 12 grandchildren.  He will donate the coins that are left over to charity.  How many coins will he donate to charity?  ________ coins
Y: ______ × 12 = 144
BLUE TEAM – Point #3

X: Mrs. Richard’s four children want to chip in to buy her a new jacket.  The jacket is $64 at the department store.  The same jacket is on sale for $48 at the discount store.  How much will each person save if they buy the jacket at the discount store?
Y: zero
BLUE TEAM – Point #4

X : At track practice, Nancy ran 14 laps in 56.  How many minutes on average did it take to run each lap?  __________ minutes.
Y: 55 ÷ 11
BLUE TEAM – Point #5
X: Reggie’s dog had puppies.  Reggie took the dog and the puppies to the vet for a check-up.  The vet charged $15 for each puppy, and $20 for the mother dog.  Reggie’s total bill was $70.  How many puppies did Reggie’s dog have?
_________ puppies

Y : 23 = ____________
BLUE TEAM – Point #6
X : Which factor is missing for composite number 48 if 1, 2, 3, 4, 8, 12, 16, 24, and 48 are listed?
Y: 556÷556 = ________________
BLUE TEAM – Point #7
X : Muriel runs 1.5 laps in 5 minutes.  How many minutes will it take her to run 4.5 laps?  ________ minutes
Y: 160 ÷ 20 = _____________ 

BLUE TEAM – Point #8
X: Jose’s mother is planning a surprise birthday party for him.  She plans to make a rectangular cake that is 16 inches long and 12 inches wide.  She will put one candle on the cake for every year he has been alive.  His mother discovers that they fit perfectly around the cake if she puts one candle in each corner and then every four inches along each side.  How old is Jose going to be on his birthday?
Y: 64 ÷ 4 = __________
BLUE TEAM – Point #9

X : Katrina wants to invite 18 friends to her birthday party.  If each table seats 5 people, how many tables will she need?   _______ tables
Y: 11 × ______ = 44
BLUE TEAM – Point #10
X : 100 ÷ 10 = ___________

Y: Aaron is painting his room.  Each of the four walls is 8 feet tall.  Two walls are 12 feet long.  The other two are 10 feet long.  If a can of paint covers 105 square feet, how many cans will Aaron need to buy?  ______ cans

BLUE TEAM – YOU WIN
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RED TEAM – Point #1

X: Mrs. Richard’s four children want to chip in to buy her a new jacket.  The jacket is $64 at the department store.  The same jacket is on sale for $48 at the discount store.  How much will each person save if they buy the jacket at the discount store?

Y: zero

RED TEAM – Point #2

X : At track practice, Nancy ran 14 laps in 56.  How many minutes on average did it take to run each lap?  __________ minutes.

Y: 55 ÷ 11

RED TEAM – Point #3

X  - Reggie’s dog had puppies.  Reggie took the dog and the puppies to the vet for a check-up.  The vet charged $15 for each puppy, and $20 for the mother dog.  Reggie’s total bill was $70.  How many puppies did Reggie’s dog have?

_________ puppies

Y : 23 = ____________
RED TEAM – Point #4

X : Which factor is missing for composite number 48 if 1, 2, 3, 4, 8, 12, 16, 24, and 48 are listed?

Y: 556÷556 = ________________

RED TEAM – Point #5


X : Muriel runs 1.5 laps in 5 minutes.  How many minutes will it take her to run 4.5 laps?  ________ minutes

Y: 160 ÷ 20 = _____________ 

RED TEAM – Point #6

X: Jose’s mother is planning a surprise birthday party for him.  She plans to make a rectangular cake that is 16 inches long and 12 inches wide.  She will put one candle on the cake for every year he has been alive.  His mother discovers that they fit perfectly around the cake if she puts one candle in each corner and then every four inches along each side.  How old is Jose going to be on his birthday?

Y: 64 ÷ 4 = __________

RED TEAM – Point #7

X : Katrina wants to invite 18 friends to her birthday party.  If each table seats 5 people, how many tables will she need?   _______ tables

Y: 11 × ______ = 44

RED TEAM – Point #8

X : 100 ÷ 10 = ___________


Y: Aaron is painting his room.  Each of the four walls is 8 feet tall.  Two walls are 12 feet long.  The other two are 10 feet long.  If a can of paint covers 105 square feet, how many cans will Aaron need to buy?  ______ cans

RED TEAM – Point #9

X : Kasandra paid $396 to belong to a gym last year and $504 this year.  The gym sends her a bill once a month.  How much higher is her monthly bill this year than last year?   ______ dollars

Y: 13 rounds to _______.

RED TEAM – Point #10

X : Mr. Johns has 179 coins in his coin collection.  He wants to divide them up among his 12 grandchildren.  He will donate the coins that are left over to charity.  How many coins will he donate to charity?  ________ coins

Y: ______ × 12 = 144

RED TEAM – YOU WIN
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ORANGE TEAM – Point #1

X: Each week, Harold volunteers 2 hours at the animal shelter.  His older sister Emily volunteers at the hospital 3 hours a week.  How many weeks will it take Harold to volunteer the same number of hours Emily volunteers in 4 weeks?   _____ weeks
Y: If a number has both 2 and 3 as factors, what other factor must it have?
ORANGE TEAM – Point #2


X: A bag of chips has a mass of 345 grams.  About how many bags of chips would it take to total 4 kilograms?
_____ bags

Y: What number is a factor of every number?
ORANGE TEAM – Point #3

X : A hiker falls into a hole that is 48 feet deep.  Every hour he climbs up 14 feet, but has to rest during the next hour by sliding down 5 feet.  Rounding to the nearest hour, how many hours pass before the hiker reaches the top of the hole?  ____ hours
Y: Round 3.41 to the nearest whole.
ORANGE TEAM – Point #4


X:  To make limeade, Sady mixes 12 ounces of concentrate with 3 cans of water.  Each can holds 12 ounces of water.  How many 8-ounce cups of limeade Sady can serve? 
Y: 32 + 1 = ________
ORANGE TEAM – Point #5

X : Six friends are sharing two pizzas.  Each pizza is cut into 10 slices.  If they each eat 3 slices, how many slices of pizza would be left over?  ______ slices
Y: zero
ORANGE TEAM – Point #6

X  - Three students line up for a school picture.  The tallest must be in the middle.  How many different ways can they pose for the picture?
Y – Austin tossed two cubes each numbered from one to six.  How many different sums are possible?
ORANGE TEAM – Point #7


X : How many prime numbers are between 1 and 30? 

_____ numbers

Y: How many ounces are in a cup?  _____ ounces
ORANGE TEAM – Point #8

X  : Joe is making a recipe that makes enough fruit punch for 30 kids.  He needs only enough punch for 15 kids.  His recipe calls for 1 gallon of water.  How my pints of water should Joe use?
Y : 1 foot = _____ inches
ORANGE TEAM – Point #9

X: Mrs. Brown has raspberry jelly, strawberry jelly, peanut butter, white bread, and whole wheat bread.  If she uses only one kind of jelly and one kind of bread for each sandwich, how many different combinations of peanut butter-and-jelly sandwiches can she make?
_____ combinations
Y: Round 0.6 to the nearest whole.
ORANGE TEAM – Point #10

X: A box has a volume of 12 cubic meters.  Its length is 2 meters and its width is 3 meters.  What is its height?
________ meters

Y: 778 – 765 = __________
ORANGE TEAM – YOU WIN
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PURPLE TEAM – Point #1

X : A hiker falls into a hole that is 48 feet deep.  Every hour he climbs up 14 feet, but has to rest during the next hour by sliding down 5 feet.  Rounding to the nearest hour, how many hours pass before the hiker reaches the top of the hole?  ____ hours

Y: Round 3.41 to the nearest whole.

PURPLE TEAM – Point #2
X:  To make limeade, Sady mixes 12 ounces of concentrate with 3 cans of water.  Each can holds 12 ounces of water.  How many 8-ounce cups of limeade Sady can serve? 

Y: 32 + 1 = ________

PURPLE TEAM – Point #3

X : Six friends are sharing two pizzas.  Each pizza is cut into 10 slices.  If they each eat 3 slices, how many slices of pizza would be left over?  ______ slices

Y: zero

PURPLE TEAM – Point #4

X  - Three students line up for a school picture.  The tallest must be in the middle.  How many different ways can they pose for the picture?

Y – Austin tossed two cubes each numbered from one to six.  How many different sums are possible?

PURPLE TEAM – Point #5

X : How many prime numbers are between 1 and 30? 

_____ numbers

Y: How many ounces are in a cup?  _____ ounces

PURPLE TEAM – Point #6
X  : Joe is making a recipe that makes enough fruit punch for 30 kids.  He needs only enough punch for 15 kids.  His recipe calls for 1 gallon of water.  How my pints of water should Joe use?

Y : 1 foot = _____ inches

PURPLE TEAM – Point #7
X: Mrs. Brown has raspberry jelly, strawberry jelly, peanut butter, white bread, and whole wheat bread.  If she uses only one kind of jelly and one kind of bread for each sandwich, how many different combinations of peanut butter-and-jelly sandwiches can she make?

_____ combinations

Y: Round 0.6 to the nearest whole.

PURPLE TEAM – Point #8


X: A box has a volume of 12 cubic meters.  Its length is 2 meters and its width is 3 meters.  What is its height?

________ meters

Y: 778 – 765 = __________

PURPLE TEAM – Point #9

X: Each week, Harold volunteers 2 hours at the animal shelter.  His older sister Emily volunteers at the hospital 3 hours a week.  How many weeks will it take Harold to volunteer the same number of hours Emily volunteers in 4 weeks?   _____ weeks

Y: If a number has both 2 and 3 as factors, what other factor must it have?

PURPLE TEAM – Point #10

X: A bag of chips has a mass of 345 grams.  About how many bags of chips would it take to total 4 kilograms?

_____ bags

Y: What number is a factor of every number?

PURPLE TEAM – YOU WIN
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GREEN TEAM – Point #1

X: Reggie’s dog had puppies.  Reggie took the dog and the puppies to the vet for a check-up.  The vet charged $15 for each puppy, and $20 for the mother dog.  Reggie’s total bill was $70.  How many puppies did Reggie’s dog have?

_________ puppies

Y : 23 = ____________
GREEN TEAM – Point #2

X : Which factor is missing for composite number 48 if 1, 2, 3, 4, 8, 12, 16, 24, and 48 are listed?

Y: 556÷556 = ________________

GREEN TEAM – Point #3


X : Muriel runs 1.5 laps in 5 minutes.  How many minutes will it take her to run 4.5 laps?  ________ minutes

Y: 160 ÷ 20 = _____________ 

GREEN TEAM – Point #4

X: Jose’s mother is planning a surprise birthday party for him.  She plans to make a rectangular cake that is 16 inches long and 12 inches wide.  She will put one candle on the cake for every year he has been alive.  His mother discovers that they fit perfectly around the cake if she puts one candle in each corner and then every four inches along each side.  How old is Jose going to be on his birthday?

Y: 64 ÷ 4 = __________

GREEN TEAM – Point #5

X : Katrina wants to invite 18 friends to her birthday party.  If each table seats 5 people, how many tables will she need?   _______ tables

Y: 11 × ______ = 44

GREEN TEAM – Point #6

X: Each week, Harold volunteers 2 hours at the animal shelter.  His older sister Emily volunteers at the hospital 3 hours a week.  How many weeks will it take Harold to volunteer the same number of hours Emily volunteers in 4 weeks?   _____ weeks

Y: If a number has both 2 and 3 as factors, what other factor must it have?

GREEN TEAM – Point #7

X: A bag of chips has a mass of 345 grams.  About how many bags of chips would it take to total 4 kilograms?

_____ bags

Y: What number is a factor of every number?

GREEN TEAM – Point #8

X : A hiker falls into a hole that is 48 feet deep.  Every hour he climbs up 14 feet, but has to rest during the next hour by sliding down 5 feet.  Rounding to the nearest hour, how many hours pass before the hiker reaches the top of the hole?  ____ hours

Y: Round 3.41 to the nearest whole.

GREEN TEAM – Point #9
X:  To make limeade, Sady mixes 12 ounces of concentrate with 3 cans of water.  Each can holds 12 ounces of water.  How many 8-ounce cups of limeade Sady can serve? 

Y: 32 + 1 = ________

GREEN TEAM – Point #10

X : Six friends are sharing two pizzas.  Each pizza is cut into 10 slices.  If they each eat 3 slices, how many slices of pizza would be left over?  ______ slices

Y: zero

GREEN TEAM – YOU WIN
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